Key to Quiz I; F4360; Summer, 2000; page 1 of 2

Use the following information and the attached pages from the Wall Street Journal to answer questions 1 through 3.

On June 8th, you bought a call on Cisco which expires 43 days later on July 21st and which has a strike price of $65.  The standard deviation of returns on Cisco stock is expected to be 45% which is an increase from it’s historical average of 39%.  The return on T-bills is as follows:

Maturity
Return

June 15
5.56

June 22
5.38

June 29
5.04

July 6
5.10

July 13
5.25

July 20
5.48

July 27
5.43

1.  Suppose that you wanted to determine the value of the call using the Black-Scholes Option Pricing Model.  What would you use for 2?  (.45)2 = .2025

2.  What would you use for rf (still assuming you want to value the call using the Black-Scholes Option Pricing Model)?  .0548

3.  If Cisco’s stock price increases by $5 per share between now and the expiration of the call, what will be your total profit/loss?  
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4.  Suppose that immediately after buying a call on Dell the price of Dell increases.  What would you expect to happen to the price of your call?  increase

5.  Suppose you want to duplicate the payoff from purchasing a put by creating an artificial put.  You have bought a call with the same exercise price and expiration of the put and you have purchased a T-bill that matures when the option expires for an amount equal to the exercise price of the put and the call.  Sketch a graph of the payoff from the remaining transaction required to complete your construction of the artificial put.


[image: image2.wmf]
Use the following information to answer questions 6 and 7:

Over the past 3 years, the returns on Dell computer have been:  180.7%, 66.7%, and 25.7% (most recent year).  

6.  What was the average return on Dell over the past 3 years?  
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7.  What was the standard deviation of returns on Dell over the past 3 years?  
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8.  The standard deviation of returns on Baduk Inc. is 34%, on Weiqi is 45%, and on the Standard & Poor’s 500 is 22%.  The correlation and between Baduk and the Standard and Poor’s 500 is 0.3 and between Baduk and Weiqi is 0.8.  What is the beta for Baduk?  
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9.   Gateway’s beta is 1.35 and Hewlett-Packard’s beta is 1.05.  The standard deviations of returns on Gateway is 55% and on the S&P500 is 22%.  The return on a one-month T-bill is 5.25%, the return on a 5-year Treasury strip is 6.32%, and the return on a 10-year Treasury strip is 6.29%.  The market risk premium is 8.4%.  What is the lowest expected return you would be willing to accept on Gateway?   5.25 + 1.35(8.4) = 16.59%

10.  The expected return on Play Dog Inc. is 15% and on Woof Inc. is 18%.  Due to a recent acquisition by Play Dog, the correlation between Play Dog and Woof has fallen from 0.9 to 0.3.  Sketch a graph below which shows how this acquisition has changed the feasible set you face when investing in these two stocks.  Key to graph:  two curves between the Play Dog and Woof (no interior points on either) with greater curve after the acquisition.
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